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Related subject: Ward boundaries

If I am reading the spreadsheet correctly you could add together the projected electorate for the Monument and Arthur's Hill wards, also for the
North and South Jesmond wards, and in both of the those combined wards you would still have less electorates than are already there in Castle
ward. How does that make sense? Are there other anomalies and why weren't they noticed and corrected? We might as well save the cost of 6
councillors by combining those two sets of adjoining wards. Or make sure that the demographics fit the ward boundaries so that there is equal
representation.
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